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Why is Ma’amr different - AR R ONR

Overview

The &3 asks according to >"7 who maintains that only the father can accept the v
for a moMXNT 7w, why is it that by n&n it is different that it can be done either ny»
TnXY or AR nyTA. Our MdOIN explains why the questioner assumed that 8» and
w172 should have the same rule.
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The explanation of the question (7Rn w'"») is; why differentiate an»x» (where it
can be 72X nY72 WX AnyTR) from w9 (where it can only by 772X °"v); if it because

“18» can be performed against her will,! 1219 are also against her will. The two
cases are similar, why differentiate.

Summary
There should be no difference between &% and 1217, since there are both 2"va.

Thinking it over

Is the question TnR» w'"» that by nR» it should also be X°77 871 ax (like by i),
or is the question that by w17 it should also be 772K "y "2 Anxy *"v 172 (just like
nRn)??

' Where her will is not required then it is easy for the 771 to perform the act, because her input is minimal.
2 See w"n "7 *"w1 which seems to indicate more like the first option; perhaps Ms01n is negating this option by writing
'w179'; indicating he favors the second option; but why?!
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